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Diagram of Transfers between Monetary Functions
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L6 Copyright (:) 1943, 1977 by Bernard Lonsrgan
F When ' is zero, then fE' equals (1- G')f0o' plus Gg"fov.
\\" : When £Dm is zero, then R qquals'(l- G")fo" plus gtIp!?.
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N Circulation Analysis: Rgvised Diagram 47 a
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The Revised Diagram A2 b

The basic circuit starts from outlay (0') on the far right,
moves along hasic receipts (fR') to the basic transitional
devision ot receipts (TR'), where it is cushioned by additions
or subtraections from the central redistributional area (CR)
whence 1t woves along (fI') vo basic income (I'), ond thence along
f1'0' to basic outlay, where 1t may be increased by a posit1ve:
contribution from CR along £S' or, on the other hand, decreased
by the payment of a loan,

The surplus circuit starts from outlay (o") of the far right,
moves along surplus receipts (fit") to the surplus redistributional
axrea (TR") where it may be augmented by contributions frow the
central redistributional area {(CR) »r diminished by payments
to it; thence 1t moves along fI» to I" and thence, in part, along
fI"or to surplus outlay (o") where it way be increased, or on
the other hand diminished along fs»,

gver and above these circular movegnts there are the
crossovers: rI'g" from basic to surplus Yor the maintenance,
widening, and deepening of basic producers goods and services;
and f1rg!* for the standard of living of entrg@euré and workers
in the surplus circuit,

When there occurs a crosscver difference, then one circuit
18 accelerating by decelerating the other, The result is a
very serious disequilibriuwm, and the longer it lasts the nore
deleterious are its cohsequencea, Let us represent the crossover
difference by tg (= frtor - fi»pt), Then, once crossover
equilibrium is attained, the condition of continned equilibrium
will be fg = 0,
| Azain, let the basic propensity to consume, to invest, and
to et be respsctively: c', it, 8t, Now BtR}t will be a component
moving to CR along fD', so on the supposition that fDt' still
remains a positive total, then

£1v = (et + 1iV)(fR' 4 £D?)

frror = cr(fr' + £pt)

fyrQr = j_l(le + :fDI)
Similarly, 1n the surplus circuit

tIr = (et + iw)(fR" # £Dn)

firor = cu(fuu 1 fl)u)

fingn = iu(fRu 4 fDn)
Should it happen the fD" or fD' happen to be a negative quanity,
{he sign in these equations changes,
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